Trouble Spots: Simple vs. progressive tenses

Additional exercises

Find the correct aspect (simple or progressive) for the verbs in
brackets ().

1. These fields (belong) to Farmer Spud.

3 What (you think) about the boss’s plan to move the company?2
1. Nomai she (v in Gicsoos. bt f fhe morment sefdoy) i rc
Dover.

5 COU|d youconlmerpleoseel(do)thomework ............................................

6 l(hdyup)myroomWhem noflcedosplderomhece”mg ...............................

7 We(mOke)sconesWOUldYOU“keTojomusz .....................................................

o, We cha) o e mamentwhe e rosbers comeino o berk.
o, Wiy it you ol Lo | ) oy o o e

10. He likes to dress well. That's why he (always wear) a fie.




